¢ bin [GeV?/c?]

Fi,

Ss

Sy

St

q” bin [GeV¥/c]

As

Ag

As

Ag

0.1<¢*< 20
20<¢>< 5.0
5.0< ¢ < 8.0
11.0 < ¢* < 12.5

17.0 < ¢* < 19.0

0.207055 +0.02
0.6810:75 +£0.03
0.5470- 00 +0.02
0.297911 £0.04
0.23705 & 0.02
0.40791% +0.02

—0.05T0:15 £0.01
—0.0610 33 +0.01
—0.1079-23 4+ 0.01

—0.19752% +0.01
—0.067915 +0.01
—0.0779:33 +0.02

0.2770% £0.01
0471999 £ 0.01
—0.10%5:15 £ 0.01
—0.471520 +0.01
—0.037312 +0.01
—0.3919:3% £+ 0.02

0.0470 15 £0.00

—0.0319:35 £0.01

0.0479035 4 0.01
0.007012 £ 0.01
0.127915 £ 0.01
0.2019:29 & 0.01

01<¢*< 20
20<¢*< 5.0
50<¢*< 8.0
11.0 < ¢® < 12,5

17.0 < ¢* < 19.0

—0.0270 13 £0.00

0.0973:28 +0.01
0.047017 +0.01
0.0819:31 £+ 0.01
0.0270 13 £ 0.01
0.1319:37 +0.01

—0.197012 £ 0.01
0.097575 + 0.02
—0.017515 £0.01
—0.161515 + 0.01
0.017312 £ 0.01
—0.0419:15 £ 0.01

0.1073 17 £ 0.00
0.1975-2¢ +0.01
—0.127517 £ 0.01
—0.01%512 +0.01
0.0875-15 +0.01
—0.1670-28 +0.01

0.0370 13 £0.01
—0.137328 +0.01
—0.03T915 +0.01
—0.02+51% +0.01

0217515 +£0.01
—0.0270-15 +£0.01

10<¢®< 6.0

2
2
15.0 < ¢®> < 17.0
2
2
15.0 < ¢®> < 19.0

0.6370 09 +0.03
0.2970-0% +0.02

—0.027512 +0.01
—0.097915 £ 0.01

—0.1979-13 £0.01
—0.1479 171 £0.01

—0.0375 13 £0.00

0.13%5:11 £0.01

10<¢Z< 60

2
2
15.0 < ¢ < 17.0
2
2
15.0 < g2 < 19.0

0.2075 1% £0.00
0.1119-19 £ 0.00

0.0870:17 £0.01
0.007919 + 0.01

—0.007p 1> £ 0.00
0.03%5-15 £ 0.00

—0.0179 13 £0.01
0.12F5:85 4+ 0.00




